Review Q & A - Mar. 10

Written Test

Asymptotic Analysis
Instantiating Generics
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General Tree Traversals: Pre-Order vs. Post-Order
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Pre-Order Traversal Post-Order Traversal
from the Root from the Root
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public class MyClass<@, 4, &> { . public class MyClass<€, M, > {
privat la;B G plu\ privat?ﬁ[] a; T S oé\]"z
publiclg m1 (¥ p1, ¥ p2) { publig & ml (1 pl, Wp2) {

/* details of implementation omitted */ details of implementation omitted */

return nu11 return null
} [II } B
public void m pl, p2) { public void m2 (U p1, € p2) {
/* details of implementation omitted */ /* details of implementation omitted */
} ¥
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Now consider the following declarations from another class (which intends to use the above generic class):

obj1.m2 ("alan", 5);

-
Boolean b; b= bbJZ m2 ("alan", false)l[ Choos#/.. s
String s; . WO‘
Integer i; v v obj1.m2 ("alan", 5); [Mose... a
MyClass<Integer, String, Boolean . \g/ N
MyClass<Boolean, String, Integer 0bj 'mx‘(ga an", false); Bose... s

X obj1.m2 (_5, "alan");
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obj2.m2 (false, "alan");
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b = obj2.m1 (3, "mark");
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Choose...

b = obj1.m1 (true, "mark");
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i = obj1.m1 (true, "mark"); [ Choose...
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i =obj2.m1 (3, "mark");
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Consider the following method which intends to reverse the input chain of nodes:
public Node<Strinag> reverseOf(Node<String> input) { -
Node<String> n2 = null; fﬂP‘f - [ 5 >
Node<String> “current = input; -'—:I |
T a2

whileCcurrent != null) {
Strin = current.getElement(); ./ O
Node<String> nl = new Node<>(e, null); /

e A 65 =
current = current.getNext(); WZ = ﬂl; yll - ,_—:-WH
}

return nZ;

}

In the above method, some line or lines of code are missing (from where the comment is) in order for the implementation to be correct. Choose the line or all lines that are needed.

nl.setNext(n2);

n2 =nt;
n2.setNext(n1);
nl.setNext(current);
il = 72

n2 = current;

Your answer is incorrect.

The correct answers are:

nl.setNext(n2);,

n2:=nl:




